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UG 3rd Semester Examinations 2021

ECONOMICS (Honours/General)
Paper Code : DC-3/GE-3

(INDIAN ECONOMY)

Full Marks : 32 Time : 2 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.

Group: A
Answer any four questions: 2x4=8

1. What are the two major causes of rapid growth of the Indian population?

2. State two important features of the informal sector of the Indian economy.

3. What are the contribution shares of GDP made by different sectors of the Indian economy?
4. Write full form of NABARD & MSME

5. What is the necessity of land reforms in India?

6. What are the institutional sources of agricultural credit in India?

7. What are the different forms of agricultural labour in India?

Group: B
Answer any four questions: 4x4=16
8. Discuss the advantages and disadvantages of high population growth in India.
9. Highlight the problems of agricultural marketing in India.

10. Write a short note on the role of small and cottage industry in India




I1.

Briefly discuss the weaknesses of the current Indian tax structure.

12. What are the chief features of the new agricultural policy in India?
13. Briefly enumerate the poverty alleviation program in India.
14. Analyse the causes and effects of disinvestment policy of the Government of India.
Group: C
Answer any one questions: 8x1=8
15. Enumerate the success and failures of the New Economic Policy of the Government of
India.
16. Discuss the changes in national income distribution in India since independence. Why did
inequality rise during the recent period?
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